* ATVITNURIVEREDONEICEETEET .,

* Stand handle location can be freely affixed within denoted range.

30°

* T LRIZEEOBHICEYRTTEET, No.

* Adhesive rubber feet in cluded.

ERLANZ / Components
% %5 / Part name = / Pcs # & / Material - REAEE / Color:Finish

1 pl= b VA 9P 1 7 ILE4R A1100P YN =TLRAL, 73997 he4b

Front panel Aluminium A1100P Silver anodized , Black anodized
2 YT 8% 1 7 ILSHR A1100P YMN=FNIAL, 77997 MRAb

Rear panel Aluminium A1100P Silver anodized , Black anodized
3 YARTL—L4 2 TIVSIRHI# A6063S-T5 TU-BE TIvBE

Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JAVRIL—L 2 TIVSIRHAT AB063S-T5 VAV & PUL: &3

Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YF7IL—L 2 7L A A6063S-T5 YN =TLIAE

Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 EH/8— / Top cover 1 4k SPCC / Steel SPCC AN L-FEE | 7'59)FE / Light gray painted , Black painted
7 T5/\— / Bottom cover 1 #ll#k SPCC / Steel SPCC AN V- | 7599 FEE / Light gray painted , Black painted
8 a—r—Javy 2 TILEA LR ADC12 TL-BE TR E

Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V7 74—bk 2 SEPRPEABSHEAR (UL9AV-0 5  [7L—, 759

Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3 L2 / Rubber feet RYroL B> / Polyurethane 7°79%9 / Black
" BUfTE R (M4 x 6 53) &% =ffiyni-k

Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 BAER (M4 x 8 7X) 8 &% =ffiyni-+

Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 BAHE X (M4 x 10 7131 UR) 4 % =@EIni-+

Screw (M4 - 10 Binding head) Steel Black trivalent chromate
14 RATFYITNURIL 1 TS5k ABSHifE UL94HB FAM L=, 759

Fv7  TILEIRLH A6063S-T5 Y=, 7599
Stand handle Bracket : ABS UL94HB Light gray , Black
Grip : Extruded aluminium A6063S-T5 | Silver , Black

15 HRATE R (M5 x 16 R SWHt) 2 % =ffiyni-+

Screw (M5 - 16 Pan head) Steel Trivalent chromate
16 EZEF vk / Slide nut 2 RUTFLY , 8% / PE, Steel 7'799 , =yl Av% / Black , Nickel plated

W77 =HILT—% / Technical Datall

ZTYFNURILTtEE / Stand handle Maximum load : 25kef st it AT BT "”%Q:‘y A IS R AR © G
itk (BFEXRED) / Color type (End of product number[1) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE with STAND HANDLE =
528 / Code | /SHRJL / Panel | £ F#H/8— / Top - Bottom cover | HAKTL—.L / Side frame | RFvYF/\2KJL / Stand handle | & /Approved #& [/ Checked HE/Created | E4F/Product number -
GS Y= / Silver F4M'L— / Light gray 9L~/ Gray 48—, Y= / Light gray , Silver MSN66-37-281
B 7'59%9 / Black 7'59% / Black 7'59% / Black 7°59% . 7'39% / Black , Black iR S £ 5] .8
BS Y- / Silver 7394 / Black 7'39% / Black 7394 , 7°59% / Black , Black ERLB/Date 2023/08/17




125

20

10

20

b
B-B(1:55) £
x
=1 = nl 0O 2
‘ I )7L —.1 / Rear framel ;‘
| | A &
| | 35 A-A(1:55) 175 ﬁ C-C(1:55)
I | S |
| T T g ;
| c c
| | = -
L J
' ' H#hti% / Max dim. 255 AT / Max dim. 349
)7L —.L2 / Rear frame2
340 4125

202 bJL—.A1 / Front framel

280

O) g

~
&
HARIL—L1 / Side frameT < 343 | HARIL—L2 / Side frame2 340
= A
202 k7L —142 / Front frame2
I I
O O
206
w4/ Title
| m| TAKACHI] #=R &4 5hF BRI % RFYINURIAFSRT L —2R O]
L © U TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE with STAND HANDLE
S 7KEB/Approved | ARE/Checked | BUE/Created | EZ/Product number REE/Scale
MSN66-37-2801 1:5.5
iR e L2 0) 2/ 8
{EFiA/Date  2020/03/06




0> kN2 JL / Front panel

~Fi% / Max dim. 50

75
*

£l

1J7 /54 )L / Rear panel

$~ti% / Max dim. 49.5

7
*

]

H#h~T% / Max dim. 340

K / Front side

A#h~ti% / Max dim. 340

R / Front side

R —HA

Surface protective film side

REE—HMA

Surface protective film side

|
|

=]

343

56

% / Back side

348.5

55.8

ZEM / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

£8/Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

H66 — W370

RE/Scale
1:3

{ER B /Date 2020/03/06

3/ 8




02 Mal / Front side

702 ~ME| / Front side

2-5

44

4-@a5

2475

167.5

2-4.2

53.5

10
2-M4

FJ} - — T 1) o
oo = =
[T

ue — —

TD [ o al

HARIL—L1 / Side framel

HARIL—L12 / Side frame2

{ERL B /Date 2020/03/06

am/Title
TAKACHI] #XR#SHFERTE HARTL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
7 8/Approved [/ Checked HB]/Created | Z4F/Product number RIE/Scale
H66 — D280 1:3
iR x A
4/ 8




30

343

333

R4

20
=0

2-MAFY SR

2-M4 Countersunk

{

[T
O

o
O

AV IL—L1 / Front framel

[T
O

o
O

A2 kIL—L2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W370

RE/Scale
1:3

{ERL B /Date 2020/03/06




M4

1J727L—L11 / Rear framel

1J77L—L12 / Rear frame2

G/ Title
TAKACHI| #RAEHIDFERIE UPIL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
#5/Approved #&[X/Checked X /Created FIF /Product number RFE/Scale
w370 13
thiR £ FHt
B /Dae  2020/03/06 678




6.75

15

249.5

—

339.5

366.5

E#h~ti% / Max dim. 349

R4.5

156.5

BH#ti% / Max dim. 2175

12

45

282

35

6.5

S/ Title
B R IHFERTE e o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #R[X/Checked #[X/Created FIF /Product number Rik/Scale
W370 - D280 1:85
[=2F ] e E3Z o
(FRB/Date  2020/03/06 T8




6.75

1.5

249.5

pr—

339.5

366.5

A#~ti% / Max dim. 349

R4.5

H#h~ti% / Max dim. 2175

12

15.5

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

R

X/ Checked

T

X /Created

A

FIF /Product number

W370 - D280

RE/Scale
1:35

{ERL B /Date 2020/03/06






